Algebral Name: \L@J(

Unit 7 Review

U7L1-3
1. What are the three methods we’ve learned for solving equations?
o Sguect. Qook
b _Folkonna 1)
J -
e _ QuodcaRe %W\m Joo w3

U7L1: Solve using square roots
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U7L2: Solve by factoring
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U7L3: Solve using the Quadratic Formula
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7. What is the Quadratic Formula? *: 20

8. What is the discriminant? What does this tell us about our quadratic equation? WHY
does it tell us this information?
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9. What is the U.S. equation for falling objects or projectiles? Describe what each N, 09
variable represents in these equations. PO X
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10. 2y* =39y~17 (answers can be decimals)
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12. A ball is thrown upwards from a height of 15 feet with an initial velocity of 5 ft/s.
Write an equation using height of a projectile formula. How long it will take for the

ball to hit the ground? \(-\Q{\‘- ‘\\Ota \ 6& *’\6
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I3. Use the discriminant to determine if the ball from the previous problem will ever

rcach a height of 32 feet. >
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U7L1-3:
a) Find the discriminant
b) Tell the number and type of solutions
¢). Choose the correct method to solve the equation (if there are any solutions)
d) Find the solutions (if there are any) (write all solutions EXACT; use radicals

if needed)
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U7L4-5: Simplify each radical as much as possible
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